
MSP-410-V01

Soccer Goal   
EXIT Scala 300x100

3

4

6

5

Detachable Hooks 12pcs

N1

H1

H2

M8x25MM Screw 36pcs

Metal Washer 36pcs

8X40MM Screw/Metal Washer 2sets

C1

C2

C3

5 mm Hexagon Wrench 1pc

4 mm Hexagon Wrench 1pc

S2

S3

S4

T1

T2

1

2

Hooks 66pcs

S1

Plastic Washer 36pcs

72.30.20.01 2x

72.30.10.02 2x

72.30.20.03 2x

72.30.10.04 2x

72.30.10.05 2x

72.30.10.06 2x

72.95.01.00 4x

72.50.22.00 2x

72.95.03.00 2x

72.30.10.00 1x

72.90.30.10 1x



EXIT Scala 300x100

3

4

6

5

Detachable Hooks 12pcs

N1

H1

H2

M8x25MM Screw 36pcs

Metal Washer 36pcs

8X40MM Screw/Metal Washer 2sets

C1

C2

C3

5 mm Hexagon Wrench 1pc

4 mm Hexagon Wrench 1pc

S2

S3

S4

T1

T2

1

2

Hooks 66pcs

S1

Plastic Washer 36pcs

72.30.20.01 2x

72.30.10.02 2x

72.30.20.03 2x

72.30.10.04 2x

72.30.10.05 2x

72.30.10.06 2x

72.95.01.00 4x

72.50.22.00 2x

72.95.03.00 2x

72.30.10.00 1x

72.90.30.10 1x

1MSP-410-V01



3

4

6

5

Detachable Hooks 12pcs

N1

H1

H2

M8x25MM Screw 36pcs

Metal Washer 36pcs

8X40MM Screw/Metal Washer 2sets

C1

C2

C3

5 mm Hexagon Wrench 1pc

4 mm Hexagon Wrench 1pc

S2

S3

S4

T1

T2

1

2

Hooks 66pcs

S1

Plastic Washer 36pcs

72.30.20.01 2x

72.30.10.02 2x

72.30.20.03 2x

72.30.10.04 2x

72.30.10.05 2x

72.30.10.06 2x

72.95.01.00 4x

72.50.22.00 2x

72.95.03.00 2x

72.30.10.00 1x

72.90.30.10 1x

2MSP-410-V01

Soccer Goal
        EXIT Scala 300x100



3

4

1

2H1

H111 x

H17 x

H111 x

H14 x

~14
CM

1

1

2

3

3

4

4

C1

C1

C1C3

C3

C2

C1

2

C2

5

5

6

6

3MSP-410-V01



1

1

2

C1

C1

C3

2

C3

S2

S1
S3C1

1

2
!

C3

2 S1

2

C3

1

1C2
S2

S1
S3

1

1

C1

C1

4MSP-410-V01

Soccer Goal
        EXIT Scala 300x100



C13

S1

3

3
C2S1

3

3

C1

C1

C2

3

3
4

4

C1

C1

C1
3

4
S1 !

5MSP-410-V01



1

1

2

C1

C1

C3

C3

2

3

3

4

4

C1

C1

2

4

C3

S1

S4
5

6

S1

S1

C1

S1

S1

C1

C1

C1
C3

C1

C3

5

6

5

6

6MSP-410-V01

Soccer Goal
        EXIT Scala 300x100



H2

H2

H2

N1
H1

H1

Red label in the upper 
left corner of the nets

7MSP-410-V01



!

EN

DE

NL

FR

DA

8MSP-410-V01

Soccer Goal
        EXIT Scala 300x100



~40CM

~40CM

~100CM

~100CM

9MSP-410-V01



Drilling: D12 mm x H40mm Suck out debris

~40CM

~40CM

~100CM

~100CM

10MSP-410-V01

Soccer Goal
        EXIT Scala 300x100



M8x12MM 4pcs

M6x20MM 12pcs M6 Metal Washer 12set

M8 Plastic Washer 4pcs
Extra

S1

S1
S2

S2

S3

S4

S1 S2

S3 S4

S2

S2

S1

S1
S2

S2
S1

S1

25
KG

11MSP-410-V01



~5CM

~5CM

12MSP-410-V01

Soccer Goal
        EXIT Scala 300x100



13MSP-410-V01



14MSP-410-V01

Soccer Goal
        EXIT Scala 300x100




